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(a) 0.7361 b)Y 0.99¢ LR$\0 g 5 W
(b) 0.9208  ( (c)).193; (d) 0.3487
&k R 1 ‘e ' g T e . . ;
) hE.ltIEL. {}pmhﬂhlht} of having at least five wining tickets among the 107 -
(a) 0.98792 ~ ' LG VO
'22) What’s |
(22) I/,l:%j Eill'ji:m]:ul:lt} of having at most three wining tickets among the 107
\(a) P.9872 (b) 0.9984 (¢) 0.0112 (d) 0.9298 EITR o ok
e BN
8. Suppose that X is a rar VALARIS withiSise . , A - R R
(p-m.f): ndom variable with support S; = {1,2, 3} and probability mass function ~
f':TJ = ¢(4 Z ) for any & € S:?: '
where ¢ is some constant. 1=y Al a-aY FCAL=SH=
(23) What's value of ¢? o RN e AN WY ER &
1 _ - N L el h £ r
() 5 (b) % (c) l’ :d}_q}l e A vy O
(24) What’s the mean of X7 o G
l..-""..,.-' 3 = Jiksy : % - . f .
\\2)3 (b) 3 (c) 3 (d) 3 - :
(25) What’s the variance of X7~ ';,, L~ ¥ e | b
f 9 1) [ \ & e - =
(2) 3 ® 3 ()3 (d) § .

9. There are 10 keys and only one of them can open a lock. We do not know which key can
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